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Subject: COMPUTER OPERATOR GRADE A
Sectien © General knowledge
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Question ID ;99700213
Chosen Option : 4

X2 Faar A
X3 Faer B
vip R B

Q2 e s & e B F o e & o7 gfee dE & Ee R

Ans X1- SP

Question ID :99700226
Chosen Option : 3

<2 DIG

X3 AT SP
v 4 1G

Q3 77 AT F g wW A e 3R gAY F vaw A foeatea # § B owe A
wen & R g5 o 7 B

Question ID : 9970029
Chosen Option : 2

Ans 5 1. FETGT e ST
o 2. FET

X 3. siterer
Ko g

Q4 reftE AR Imm AT AT ifmm T R

v X gremH

Question ID : 99700240
Chosen Option : 3

X 2. greEvT
o 3. TRIST
X4 ZhRyeT

HETAT & ST I

Ans

Question ID ;99700224
Chosen Option : 2
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K1 FEr & 9T Y GE FH R AT §
X 2 TEA S ¥ A IR A

Vo THE S ¥ FH G @ §
X o e o @ 78 @ €

A K. Fae Wid

Qs mlﬁﬁPEmemmmmm#mxmmﬁ‘

Question ID : 9970024
Chosen Option : 4

X 2. FadT FEEHET
X5 Far
< 98T 3k FEfeEie ot

Q.7 TR & w2F a0 F 2 ¥ 7 orEd 7%, Then e wieptas T e e F
AUTH & U FeAd F HEASH &IdT g1 TF &

Question ID : 99700236
Chosen Option : 3

Ans x1mw
K 2 o Fcd FAglcHd

X 3. FTEpice Agledd

& T Aglews

Y B Y FT T T R e g 2 l
e XK e

Question 1D : 99700223
Chosen Option : 4

X2 37iéan
o . FRETT

X 4 gl

QI v wdT wEuE WRE (M) T # g o # e &
Ans x4, '?m"'IFFgT

Question |D : 99700235
Chosen Option : 2

2 TS
X' 3. gryoT
X 4. SEETEE

Q.10 ﬁwﬂvmnnﬁag%u’iﬁmr&#ra_gmﬁmm%:'
A X1 T @@ & QT

Question ID : 9970026
Chosen Option : 2

X2 mfaw s Fr agar
X 3. wfagfea
v S

N e FuT T TEE
IRT H IHAST &F & U HUET s 1 FROT ¢

Question ID : 99700218
Chosen Option : 3

A o gEedT doiE F e =R
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X2 Fee gEresr i Fa
X 3.
Fear @rer AT == A w9 A A i

X o e 3mniE @t &y

Q12 e saen # frwar B9T ¥ FH Y FH S B 2

Question ID :99700221
Chosen Option :2

Ans X1 ©TH
X2 fgw
X3 feger
v ghg

TF MW STTT 7 m FT

A Aash g A

Q.13 mﬂmwmm:mmm&mmmmmmmsml

Question ID : 99700211
Chasen Option :1

X 2. FETcAT ey

K 3. FATETAT Ag®

X ¢ AigFAg e St

Q.14 gz 3o e &
Ans

F1 s 25 s & faw 99 97 ECG famm
X 1. ST & HET FT JaOIE

Question ID : 9970025
Chosen Option : 4

X2 oIt A =i & I & Fr AE
X3 éﬁwu“d{ #T USFT FT ST
o o g Fr ot

Q.15 2011ﬂmtmhaﬂ7mmmﬁﬂmﬂmmb

A X 11 g @ EwH

Question ID : 99700219
Chosen Option : 4

o 2. TEIHET 129
X310 M@ 2= FH
X412 3. ¥ o 3w

Q18 SRR # ¥ Fi9 & oF OORE TET T4 52
Ans x13’{\€

Question ID : 99700229
Chaosen Option :2

o 2. gTeT
X 3. FTH
X4 Py

Q.17 firhrsr 7=t et st offrr g sitw Rt 29 & Pnefafam & & oF o e smarst
A s reo AR I R F R ama S hiag &

Ans o1 9T gafrer

Question ID :99700231
Chosen Option :2

X 2. Far Ferera
X 3. 7w
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X 4 37 oftEer

Q18

Ans

SAH ¥ FiF T 3ca? Fe &1 IR e 7gr 87

Question ID
Chosen Option

199700237
2

V1 T TR
X 2. SRS
X 3. RyepeAepriy

X 4 FIATAT A=

Q.19

Ans

TEeT OR HRA & 9T H FH 9 A AT § 9 I AT 97
X 1.

Question ID
Chaosen Option

19970027
1

X2 3E
o 3y
X4 3nfreeT

Q.20

Ans

Which of the following is the correct sequence of the smallest to the largest unit of storage size
(read from left 1o right)?

X 1. kilo - mega - giga - peta - tera

Question ID
Chosen Option

:99700239
3

< 2 Kilo — mega - peta - tera - giga
o 2. kilo - mega - giga - tera - peta

X 4. mega - tera - giga - kilo - peta

Q.21

Ans

Hfvaa T Frew & AT gED INRAfE g N & v sAew wv o §) ae
o b

X wder

Question ID
Chosen Option

199700233
4

X2 o
X 3. grer
o 4 Tl

Q.22

Ans

Growth of GDP is an indicator of ewreconomy. GDP stands for:

#< 1. Gross Domestic Progress

Question ID
Chasen Option

199700214
4

X 2. Gross Domiestic Promotion
X 3. General Domestic Production
+ 4 Gross Domestic Product

Q23

Ans

ofer waeriers & Y& & AT F dgea # Ie 2w F gfew A # e T g w
St i wew FaS 7

<118

Question ID
Chosen Option

199700225
1

V2. 08
X373
X475

Q24

Ans

MR 1 TARAT & T o @ TR e WA & Rromwat o aa # afie @) & W
TS Ty

Question ID

Chosen Option :

199700212

2

X 1. greneE AN
X 2. AgIcAT TH. &. TmefT
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o' 3. GIER Foorey HTE 9
X Bte =g o=

Q.25 SIRTETAT ATHER & @18 fRwe O Agegs # IO @ A A R

Question ID : 99700220 |

Y T e Chosen Option :2

X2 pfee o

X s HmererT F@St

X4 & v, v, AR
Q26 Which one of the following is not a software? Question ID :99700238 |
Ans X 1. MS Word Chosen Option :4

X 2. Excel
< 3. Windows
+ 4 Thumb drive

Q7 et R T AR s T s T e A T FE

Ans x1m§%ﬁ
X2 wE
V'3 Tl ATR
X 4. FHASST 21T

Q28 7w Fr o HRE TR &Y & wRwEt At w6 F seea # ZED R
FreEm e # ¥ FiF W UF e 8T 7 OF 309 a9 67

A K. siteefrar ot 3t Toor wEe
K2 gury
V'3 9z AR AT wmEe
X Far AR w

Question ID : 99700234
Chosen Option :1

Question ID : 99700216
Chosen Option :2

Q.29 = & =9 s9wE (T REarge) F eNer ¥ oeand ¥ At F mawh vem ¥ o ]

FrmT YAt e A 8 Question ID :99700232
Ans : . Chosen Option :1

1 BTFA TS AN

X 2. F=ATST

X 3. AT

X4 e

Q30 frsrd & & TE TUH oA TR FEl & FEw A T §? Fuestion [.:89700228 I
Ans x 1 ﬂ?i'cﬁ' aa; S-ﬁ‘cﬁ E%EIT f%ﬁ?ﬂ,ﬂé‘ m Chosen Option : 3

X 2. Ryerr e, S

3. s e d Rifese, Aas

X+ yrzew [@fese, Freemar
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Ans

Bl i T S

T F Y gEw =T BT T 22

Question ID : 9970028
Chosen Option :3

X+ e
X2 grreg
VAR e
X 4 3erae

Q32

Ans

et & it avr & aAet F avew F 7% av dand & e v = e
foraT| wrEE & MY fRwE gam femr mar um

X Ala dfesw

Question ID : 99700210
Chosen Option :2

o 2. FTATT ST
X3 FE ForT
X4 FE JrmwE

Q.33

Ans

Freg & g it s & s Y feedal 3% 201415 F g A 39 201516 F
&

Question ID : 99700215
Chosen Optian: 2

X1.E¢I’§'-§»‘
v g

X3 AT
X 4. TR HHEY HTS

Q.34

Ans

3ee el N 1 Hauleid THE FisT gar 82
o 1 TSI

Question ID : 99700227
Chaosen Option : 3

Xz.:g'@mi'a?r

X 3. fqureT g & 3egeT
X 4. FRIREE

Q.35

Ans

TTATY] & AHF & W FieT | FHOT /A g
X 1. &I Tage

Question ID : 9970022
Chosen Option :4

X2 g A s
X 3. I Told
N R

Q.36

Ans

# R W AR ¥ B o Ay S § AT a7 amw A O o e E oww e o
FaTEu &7

Question ID : 9970021
Chosen Option :3

V1. TS & A R gord @A
r

Hw ¥ F wEa & v W yuw faww HiRY R F el W e
X 3. 7 & aifa &7 gfady @aR
X o 72 & a1fa &1 gyA7 A
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It is projected that exports graph of India will steadily go upward for next few years. Such a boost in
exports js expected due to present:

Question ID :99700217
Chosen Option :2

Ans 1. easy availability
« 2. Foreign Trade Policy
3. craze for Indian stuff
X 4. cost efficiency

Q.38

AN 297 & 7 T=Ar Fr T

Question ID :99700222
Chosen Option :3

Ans

TqE I W FEROWT & weaiiE TR R Ow 9 &
X 1. F AR

A X gl
X2 a;algi&
3. =TT
X 4 HEAT
Q39 5w & G F om, o & gt Rt o fam ok v ok wede A wd g &

Question ID : 99700230
Chasen Option : 2

2. et
X3 arer
X 4 T

Q.40

Ans

o5 giuf & geAas @ @A FIT AT

Question ID : 9970023
Chosen Option :1

X 1. 3707
X 2 @z AT
X 3. qITeTOT
v ST

Sech

ton  Mental ability

Q.1

Ans

ML oF W F 3 A 150% AT g 200% R I §, A ofomewy fe 2
& Fe ¥ s e

Question ID : 99700260
Chasen Option : 3

X1.i
X2
o 3.

X 4

Ol N ol =
=

Q.2

Ans

afe 345 = 60 J2m 246 = 48 &, ar 572 = ?

W 1. 70

Question ID :99700258
Chosen Option :1

X214
X375
X4 37
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gt ghemat & | srgenolr Fereameft
Feeeo framit
farzamit
A 12 13 15 20
B 15 15 18 22
c 18 12 22 18
D 10 15 14 21
gt Themat & st fremfit 1 e sfnm fiw o b
Ans  5C 1. D
W2 C
X3 B
XA

! ik WA Sl

Q.3 vw Reges & 721 V & 4 R ¥ sdaits o ofis afenst & oftoms R &
AR i Al & R o

Question ID :99700256
Chosen Option ;2

Ans X1- qé'

LAY

X2 IR
v 3. gigoT

X4 gfegs

Q4w gag e i aEE oF gEr @ JTw 9 ek A WO FER T 3 e &
ot femea 3FF % 3R AW W O wwes R fan & wegw o

Question 1D, : 99700253
Chosen Option :3

Ans W” E',?ﬁ'
X 2 g
X3 gEr

X o s

Q5 G 9FR For, Y ¥ gERT &, 30 R gE Fee s

Question ID ;99700248
Chosen Option :1

Sy gafa ¥
HOOOF A 7

Ant X Reamew ¢ Rt
X 2. Treleh os
X 3. FAFR : I
W 4. 3TaShRe : Foadr ()

Q6 & ook e S F & g IR F ovR BN s @ WA ¥ Reest & ¥ s
MR T O9m 7Y G 2 R A O WEN & wafaw § T wew u A ogw

Question ID ;99700249
Chosen Option :4

Ans 44 7
X25
X34

foreer AwinET T AR A 82
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X6

Q.8 @ fee o e # we ¥ Rftes B o @) v & Wl s & oaow A }
o A el 1 SR FF UE AU e A S EE Question ID :99700245
H A P E S R Chosen Option :2

12 3 e
Ans X 1.5, 1,
23 1,
X33, 1,
X4 3, 2,

m

(@2 IS I S T )
N oo
(o) TN “SE o T

2,
6,
6,
1,

Q9 vw mFETEE Fua w7 @ A S FEW | A F T ¥ F g anpEwr e wmm ]
ot 7 B s & B wia oAk e § ool s w st § o s e Question ID :99700257
HIY S W WEA HAT R Chosen Option ;3
Fg  F wieEe ol § FEe agieee wA e

wIfEe?
T . &, aFgfees e & Seil a7 e sfea Hi
Broaer ¥l
I 7, aureRF TR argwes A § 3 €

A X 1 Fae 7 1| JeE
V2 FF T | A g
X3 aw | AR 1l @t & Joaa §
Xogadrar | 3R T & TF Il 75 €

Q10 T s Tomfm A @ ¥ oma | G v a5 & Jeo & 7§, 5 ¥ 2 TR O FE ]
W2 'R & Question ID ;99700244

xle  x]ey 1x[e) x|o x]*] Chosen Option :3
*|0 * O *|0 *|O Ll (]
1 1] il [\ v

Ans X1l T V
K| g IV
V3| g IV
K4l Far vV

Q11 F=RE ¥R 4T & AN WA & AT TF B F rW W SR § wE ]
T Question ID : 99700247

B3D, F8J, L15R, ? Chosen Option : 4

Ans - X 1. T23Z
X 2. S23A
X 3. U25C
o 2. T24B

Q12 T & T 79 A IEF W 50 W s IR we 5w wEe & T aw A ) ]
UF @R @ HR AW FAT 2 AW & A s 95 7 TR 989 W aw & QueshonlID.Bs'roozs.t
HqE qd Toar Y 6T ¥ A 9w qw 0 & w0 d we f 79 4w W g e R Chosen Option :4

£ 3T w?

Ans X1t|:=§‘
X2 gf¥es
X 3 3R
4 ZFRoT

Q13 ( |
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Freg o & AT ®T & 2T 92 H9E A ve @f¥ed g & @ § T e § fee
¥ gl 3 & wel & S ofr yow A FEfw @ St A vw w A ¥ et A A g
9z AT ffET)

FHKC : UGNL : : BCEH : ?

Ans X 1. WTRP
X2 YXVS
V'3 YVTS
X 4 YURP

Question ID : 99700250
Chosen Option : 3

Q.14 7fr 785 37 3% 72+ \5 T 6.4 FT 7T 6 - 42 ¥, Fr 30.549 FT A U E?

ans X114
2 28
X38
X4 34

Question ID : 99700243
Chosen Option ;2

Q.15 9 vF wEE & adEd fEw F v wee ) W am § R s B F
e werw aew Fiem it s §) SR A s /e # o Fe F R
a@ﬁmﬁ.#ﬁmw@mmmﬁmﬁ#ﬁmmﬁm&mﬁmﬁmh

Ans x1_
FER &7 ¥ 39S O W AT e S 49 gieeeor § FERS S
X2
areerfle A # 39 wieredar # e w e
X3
1 FriEd Rew & sl e At we sl e = wern w6 e

o 4.
FHETT o AfAfAar & weee T, A & gEL s ST S w0

Question ID ;99700252
Chosen Option :1

Q16 s s ik 3 o T g <R ST 3T ST SR
MK IH O F FEER & I OIS &
X2 98 & v WA g | o &
3. T8 & AT & GIET FAT B AT G

K4 qf F7 961_BIS ol

Question ID : 99700251
Chosen Option :3

Q17 fr=fafa e o J el 3§ R oa fea § o o sia @ e e
1, 3, 7. (15 31,7

Ans 1. 65
X2 47
X 3. 55
v 83

Question |D :99700246
Chosen Option :4

QI8 TRt f s T R TR o Fdg sl s v &
=, freder, ifee

Ans

X
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T T F wEr
AT et e e TR Eic
# wgeivr | sk et & | Tt &
Torzzmeit afrarst & D ST
AT Fergamt gt
Forzamet
A 12 13 15 20
B 15 15 18 22
o] 18 12 22 18
D 10 15 14 21
et altemat & et frgnfiat @ sfteew wine e S @ @2
Ans x1_ A
X2D
v C
X4B

Q19 vw fagmaa & 7= V & 4 e §) it o arfde afemet & oftome e &
IR e e & o

Question ID : 99700255
Chosen Option : 4

Q20 2/0.000729= ?

Question ID : 99700259

Ans x 1. 0009 Chasen Option : 4
K209
X 3.0.003
v'<.0.09

Section Reasoning

QA o st offr wgr B sty g ok ) A = A

Ans K1- ﬁ

2. arcfistr
K3 g3r

X 4. §ga

:ﬁ?rwmémm.g:mr:?ﬁw[

Question ID : 99700272
Chosen Option : 2

Ans  of 1. fear
X 2. attack

file://iC:/Users/ajay/D ownloads/Qp%20( 1).htm!

Q2 o Fya F FF @ ReeT a0 O ¥ 9 e 22

“Danger” always involves

Question ID :99700275
Chosen Option :1
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X 3. suddenness

At AT ¥ g {1 e, R AR R & dw & 8 gh 1 R, fen & oeen o
3t & gk ¥ Fon & veeA ot A wa Mgk b

X 4 help
.3 : N
O3 P o arpfa & T I A= arglRd ¥ e 2 Question ID :99700265
Ans Chosen Option :2
X1
>
X 3
k>
x &
4,
4
Q4 ot Tt &= B AT I FE o 9 F WER A 4 gf ) B, Re oo

Question ID :99700271
Chaosen Option : 4

Ans o<1 fror
X2 B3ag
X5, sy
V. R

Qs

F=tE & 8, Fi9 W 5T By v st & g9 3fUws 5A 82

Question ID : 99700266
Chosen Option :3

Ans  5C T
X2 weT
v B
X4 Ty
Q6

ﬁ??aﬂ?iﬁaﬁ“ﬁ'ﬁ'@'ﬁﬁﬁﬁﬁ'ﬁ@?ﬂiFriﬂﬁﬁEF%%
7:32::19:°7

Question ID : 99700263
Chosen Option : 2

A 1. 82
v'2.80
X3 91
X497

Q7

Question ID ;99700279
Chosen Option : 4
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w7 4 A qu = F B, et # ¥ 39 ety (e o) = o @i s
7w Fue F T ST RS

o[~]~]o
s X
EG
ol
Ans
x1 |2 AN
2N
\\ O
X2 AN
o
N

XG-X

i X

/
1O
Q8 from fifse f5 =7 W 7% F 70 Fum F sEEn qfitE weg k
— Question ID : 99700276
T S yETEE AT UR sETea Y gt 3 uwA * otemien G s mirer Chosen Option :3
a¥F:

. N FEET S W O ey =T # qerrEger 2 #
. @ TF IR T w0 Fw i # mee e E
., & TEE Y =7 ¥ o ATRAT &, 39 FEal 9T ae &9 8 S

Ans

X 1. e T | AT g

X2 Faa a& | #AR Il & A=A &l
Vo Fae TF || AR & a5
X mef A &

Q.9 #F v 7w wm-pw & @ weg W # v fAies v # Fate §) et & § 5w ]
e T A e R 2 A d SH s & Fafe ¥ R v vt @ mw Question ID :99700261

=rér wEfla # Chaosen Option : 4
A a7

Ans x1FI€I'EIT‘3-T

X2 dgT ;. d e
v oarer - TR
X 4 AFG 1 g

Q10 37 3@ & ggae S A Rl T Tt F A Fddcs FEw axiar §

Question ID : 99700278
=, u, &«

Chosen Option : 2
Ans

X1
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v O O

(00D
()

AN S=faf@s ot & AiEf & 9 9 @1 397 39 S ¥ RBuw 2

Ans

Question ID : 99700264
X1 ‘3-{-dﬂh 2 o\H.qch Chosen Option :3

X2 frer : s
v ge gt
X4 @A : TUEF

Q.12

HieT T FEAA FT TAE He T T F 3T %‘7[ Quiestion ID : 99700267 |
Ans X 1.6 3 2 Chosen Option :2
X293 .3
Vo8 34
X+6,16

130, 117, 102, 85, 7, 45
Ans o 1. 66

X2 69

X3 37

X4 68

Q13 Rr aw fawedl # ¥ v T W # TS F, AT RGO Fw|
Chosen Option :1

Question ID : 99700268 |

Q.14 & 7 womst & yqea &, R 9 ¥ e gin 9w 6 ¥ oy i @ 4 A
35742564369536984396924069437697691

A X 1.8
X2 4
V35
X6

Q.15 &F & Reest § F 37 w4 W gAE & S R T e F e & RF vR aw v R
TE TAT AT T K

Question ID : 99700269
Chosen Option : 3

Question ID : 99700270 |

ORGANISATION Chaosen Option :1
Ans o 1. STATION
< 2. NATION
X 3. RING
X4 STAR
Q.16 I
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?lzﬂ' ﬂ%ﬁf ' ﬁmﬁ ﬁﬂim . Question ID : 99700280
a ﬁ ) %‘? Chosen Option :1

VA
JAVA

AN
N

Ans o1 23 T e
X2 20
X316
X412

Q.17 v= faiw #T s A, BLEACH' & 'CKFZDG' Toram =T &, 33 smr & ‘NUMBER' &7 ‘ ]
&0 w=r g Jriem? Question ID : 99700274

Ans X 1. MVLCDS Chosen Option : 3

/< 2. OVNCFS
3. OTNAFQ
< 4 OTNFQA

Q18 =ew IX & & fomt & w= lten = i vF T & 20 REmidst A sitwa @ 80%
arex B wafy Zay R & 30 Remf & stwa a4 70% oo fRn e X F o
it & feafddt o shee 9 = @2

Question ID : 99700273
Chosen Option : 3

ans XK1 72%
K2 76%
'3 74%
X4 78%

Question ID : 99700277

fruior AT fF w9 ¥ Fead s T ®uE & 8§ AgEr w1 € Chosen Option :4

Q.19 Wm?ﬁﬁmmgvm?ﬁﬁv&ﬁﬂﬂﬁuﬂﬂﬁﬁﬁl
U

@ wpT A )
FC e wErear )
Tl et st £
o
I. T afgt amme )
Il. T Akt F7ge §)
. T gwfsr sgv )

Ans

X1 et I HTHIOT I gl
X2 &ae || A 3FEor &= g

K3 ohael Il 3THIOT FIA £l

W ¢ T | HFETOT FLT gl

Q.20 3y g ‘Surplus’ ¥ ‘Deficit’ FEfig ¥ 36 9T ‘Profit, I Fatta §
Ans - X 1. Secure

Question ID ;99700262
Chaosen Option :3

X 2. Success
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X 3. Gain
W'+ Loss

gy Pt TREEEE

Section Computer Science

Q@1 Which of the following statements about GPS is false?

Ans 4,

It is a space-based satellite navigation system

X 2. It stand for Global Positioning System
V&)
It stands for Global Position Synchronization

X a

It is the backbone for modemizing the global air traflic system. weather. and location services

Question ID : 997002138
Chosen Option : 3

Q2 YWhich of the following is a sequential access memory?

Ans o 1. Magnetic tape

X 2. DVD
X 3. RAM
X 4. ROM

Question ID : 99700283
Chosen Option :1

@3 Which of the following statements is false?

Ans x1_

Rolling back the entire transaction erases all of its save points.

X 2

Rolling back the entire transaction reverses all of its chianges.
o 3.

Rolling back the entire transaction does not end‘the transaction.

p G

Rolling back the entire transaction releases any transaction locks.

Question ID :997002104
Chosen Option :1

Q4 What is the meaning of HTNL ‘vlink" attribute?
Ans o 1. visited link

& 2. active link

& 3. virtual Jink

X 4. vertical link

Question ID : 997002140
Chosen Option .3

Q5 Frefafes # & w7 & dowe somr (HRRE fredm), MS-DOS v fnlw v fmr S
32-Fyz snar 64-FT w1 FREUA AT 87

Ans K1ﬁ?;|?95
X 2 [T e aH qenre
X3 ¥ 98
Vi S XP

Question ID : 997002115
Chaosen Option : 2

Q.6 Inwhich of the following nerwork topologies. failure of one node can disturb the whole network?
Ans X 1. Tree

X 2. Bus

+ 2. Ring

file://iC:/Users/ajay/Downloads/Qp%20(1).html
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Q7 Which of the following is a composite attribute?

Ans 1. Gender

Question ID
Chosen Option

199700298
2

< 2. Number of dependents
X 3. Age
¥ <. Date of birth

@8 The Gray code of decimal 3 is:

Ans X 1. 0110

Question ID
Chosen Option

1997002147
4

X< 2. 1001
30010
X 4.1100

Q3 The minimum font-size of a text in MS-Word can be:

Ans 1.

Question ID
Chosen Option

1997002107
3

W2 ]
X305
Xa 2

Q10 Which of the following is a weighted code?

Ans (1. Excess-3

Question ID
Chosen Option

997002146
4

+ 2. BCD
X 3. Gray
X 4. Both BCD and Excess-3

Q.11 The model followed by the e-commerce sites which facilitate online shopping of products and services is:

Ans o 1. B2C

Question ID
Chosen Option

1997002130
1

X 2. B2B
X 3. B2G
X 4. C2B

Q12 The 15's compliment of the Hexadecimal number (A01);¢ is:

Ans X 1. (GEO){s

Question ID

Chaosen Option :

199700292

2

X 2. (6EE)6
X 3. (5F0)16
W 4. (SFE)16

Q.13 In order to store a matrix. we need
Ans 1. three

dimensional array.

Question ID
Chosen Option

1997002160
2

W 2. two
X 3. four
X 4. one

Q.14 Which of the following logic gates outputs 0 when the input values are different?

Ans X' 1. XOR

Question ID
Chaosen Option

1997002143
'3
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X 2. OR
X 3. NAND
o 2. XNOR

Q.15

Ans

Which of the following class of IP addressing is used for multicasting?
&K 1. Class C
“ 2 Class D
X 3. Class A
X 4. Class B

Question ID

Chosen Option :

1997002121

1

Q.16
Ans

Whicl of the following is not a valid level in the ANSI-SPARC three-level architecture of DBMS?
« 1. Administrator level
K 2. External level
< 3. Conceptual level

X 4. Interal level

Question ID
Chosen Option

1997002101
1

Q17

Ans

Address 220.50.50.10 belongs to:

X 1. Class A
W 2. Class C
X 3. Class B
X 4 Class D

Question 1D
Chosen Option

1997002119
2

Q.18

Ans

Number of links inn a fully-connect Mesh topology network of i nodes is:
o 1 n(n—=1)2

X2 nn+1)2

Xan

Xan-1

Question ID
Chosen Option

1997002124
2

Q.19
Ans

Whicl of the following memory is also called ‘primary” niemory or ‘main’ metmory?

& 1. Flash memory
X 2. Memory stick
¥'3. RAM

X 4 Hard disk

Question ID
Chosen Option

199700288
3

Q.20

Ans

RlE & ¥ FiF O ey, $-a0sT ¥ Yo o1 767 87
X1 g ¥ 3TTeddr H Fgeleadr

X 2. gHe 390y

3. Rregaeaer # i

X 4. T XA HT Fiaer

Question ID
Chasen Optian

1997002134
3

Ans

Q.21 The size (munber of cells) of an ammay having row indices as 0 to n and column indices as 0 to mis:

X1tn+m+2
K2nXm

X3 n+m

o 4 (n+1)m+1)

Question ID
Chaosen Option

1997002154
12
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Ans

frfaiee # @ R @ faweT Aol-saees AYE0T SUaR0T S SERA 87

X 1. s

X 2. grfr-zrhr
V'3 rEreT
X 4 Tonfass

Question ID

Chosen Option :

1997002125
3

Q.23

Ans

Which of the following is a non-linear data structure?

« 1. Graph

< 2. Linked List

< 3. Queue
X 4. Amay

Question ID
Chaosen Option

1997002151
1

Q24

Ans

Which of the following categories of computers uses microprocessor?

« 1. Fourth generation computers
< 2. Third generation computers
X 3. First generation computers

X 4. Second generation computers

Question ID
Chosen Option

199700281
1

Q.25

Ans

The equivalent Boolean expression of A'B* + AB' ~ A'B is:

X1 AB
X2 AB
X3 A-BR

Vi A+B

Question ID
Chasen Option

1997002144
12

Q.26
Ans

The size (munber of cells) of the k-map to simplify a Boolean fimction fTA.B.C, D. E) of five variables is:

Wi 32
X226
X316
Xa8

Question ID
Chosen Option

1997002141
1

Q.27

Ans

Which of the following is not a Web browser?
X 1. Internet Explorer
« 2. MapReduce

X 3. Mozilla Firefox
X 4. Chrome

Question ID

Chaosen Option :

1997002128
2

Q.28

Ans

Which of the following is not an application software?
K 1. MS-Word

X 2. MS-Access

< 3. Notepad

+ 4. Operating system

Question ID
Chosen Option

199700282
4

Q.29

Ans

file://iC:/Users/ajay/D ownloads/Qp%20(1).htm!
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Question ID
Chosen Option

1997002142
12
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r R E
N
v &)
X2

N

Q.30
Ans

Which of the following CPU registers is used to store values for ALU operations?

+ 1. Accumulator

Question ID
Chosen Option

199700295
1

X 2. Program counter
X 3. Index register

X 4. Instruction register

Q.31

Ans

‘Which of the following is a weak entity?
& 1. Book

Question ID
Chaosen Option

1997002100
12

+ 2. Edition
X 3. Author
X 4. Publisher

Q32

Ans

Number of Half Adders required to build a Full Adder is:
X3

Question ID

Chosen Option :

1997002145

1

X2
o 3

X a

v

L

Q33

Ans

frfafem & § #i7 O Jures gomer (ifes faeA) Fy dfafke 2
X1 3% 0S X

Question ID

Chosen Option :

1997002112

1

X2 0S/2
X3 e 7
o+ Unix

Q.34

Ans

The length of IPv6 addresses is bits.

Question ID
Chaosen Option

1997002116
1

Q.35

Ans

HTML is a:
« 1. scripting language

Question ID
Chosen Option

1997002129
3

X 2. low-level language
X 3. programming language

< 4. machine language

Q.36

Ans

What will be the sequence of munbers, if the following operations are perfonied on a Quene?
Disi@). pop(). prushi(5). pusi7). pop(). pep(). pish(s). pop(y

X1.57.8.9

Question ID
Chosen Option

997002157
4

X29.5.8.7
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X3 8.7.5.9
49578

Ans

Q.37 Almost the entire code of UNIX operating system is wriften in progrunming language,

o1 C

Question ID
Chaosen Option

1997002111
1

X 2. Pascal
X3 C+
< 4. Fortran

Ans

Q38 Electronic clearance and electronic filing are the examples of:

' 1. B2G

Question ID
Chosen Option

1997002132
4

X 2. B2C
X 3.C2C
X< 4. B2B

Q.39

Ans

Which of the following is a DDL conunand in Oracle?
X 1. Delete

Question ID

Chaosen Option :

1997002103

1

XK 2. Update

X 3. Select
o 4. Drop

Ans

Q.40 Which of the following offers a line of credit (i ¢... o loaw) that is interest-free if the monthly bill is paid on ime?

o 1. Credit card

Question ID
Chosen Option

1997002135
1

& 2. Debit card
X 3. Chequebook

X 4. Both debit and credit cards

Q4

Ans

Which of the following statements about Queue is false?

< 1. It follows first in. first out policy.

Question ID
Chaosen Option

1997002158
3

& 2. It can Le implemented-using array.
« 3 It can’t be implemented using linked list.

X 4.1t is a linear data structure.

Q.42

Ans

The 8°s complement of the Octal number (6100)g is:

X 1. (6100)g

Question ID
Chosen Option

199700291
12

W2 (1700)g
X 3. (1677)g
X 4. (2700)g

Q43

Ans

An impact printer prints characters using:
X 1. ink pen

Question ID

Chosen Option :

199700293

3

< 2. laser beam

+ 3. inked ribbon and print head
X 4. electrically charged ink

file://iC:/Users/ajay/D ownloads/Qp%20(1).htm!
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Ans

gy Pt TREEEE

The sum of the binary numbers 10011 and 11101 is:

Z 1. 10001
< 2. 10000
2 3. 11000
' 4.110000

Question ID
Chaosen Option

199700286
12

Q.45

Ans

UTF-8 uses up to byte(s) for non-ASCII characters.
X183
2 4
X3
xa2

Question ID
Chasen Option

1997002113
1

Q.46

Ans

Which of the following is not a characteristic of embedded system?

& 1. Reactive and real time
o 2. Multi-functioned
X 3. Single-functioned

X 4. Tightly constrained

Question ID
Chosen Option

1997002139
13

Q.47

Ans

What will be the sequence of munbers. if the following operations are performed on a Stack?
pish(S). prsh( 7). pop(). push(8). push(6). pap{). pop(). pop()

X 1.58.6.
X2 7.6.5.
X 3.6.7.8.
o 4 7.6.8.

~1

h o0

h

Question ID
Chosen Option

1997002156
3

Q48
Ans

"

Which of the following is similar ta personal cheques. but feasible for very small trinsactions”
X 1. ATM

« 2. E-cash

X 3. Debit card

X 4. Credit card

Question ID
Chosen Option

1997002133
2

Q.49
Ans

Which of the following menn items will be used to convert table to text in MS-Word?
X 1. Edit

2. Tools

¥'2 Table

& 4. Format

Question ID
Chosen Option

1997002108
1

Q.50

Ans

(A0)1s - (BA)1s & EICTT FT HAA ¢
o 1. (36)16

K 2.(46)6

X 3.(63)1s

X 4 (30)16

Question ID
Chosen Option

99700289
1

Q.51
Ans

The density of the innermost track of 2 hard disk is the density of the outenmost track,

X 1. equal to
o 2. higher than

file://iC:/Users/ajay/D ownloads/Qp%20(1).htm!
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199700294
2
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< 3. lower than or equal to

X 4. lower than

gy Pt TREEEE

Q.52

Ans

The default subnet mask for Class B IP addresses is:

X 1.255.0.255.0
X 2.0.0.255.255
W3 255.255.0.0
< 4. 2552552

Question ID : 997002117
Chaosen Option : 4

Q.53

Ans

Rl & ¥ AN T 727, TE 90T TS & AN N B

Vel

HAE & FAT HWOOAT ST wART 7w, fw v @ miEm )

X 2. ZHT FeTH ETS9IT TR0 T FAIT

X 3.

Rraita RSraar f1 379 & S Herurer Susol # @9 T &

X 4.

FATS & TR F FH FE AT F S A 3 & F e w1

Question ID : 997002136
Chosen Option :2

Q.54

Ans

The size of ‘checksum’ in TCP protocol header is
v'1.16
X238
X332
Xa 4

bits.

Question ID :997002120
Chosen Option ;1

Ans

address of 4% cell is:

X 1116
X2 104
X 3. 400
o 4112

Q.55 Considering the size of *float” variale as four bytes, if base address of an array of float is 100: then the

Question ID :997002155
Chaosen Option : 4

Ans

X1 4
2.8
X316
X4 2

Q.56 The number of different symbols tisethin, Octal number system is:

Question ID : 99700284
Chosen Option :2

Q.57

Ans

The Excess-3 code of decimal 3 is:
< 1. 1000
& 21010
v'3. 0110
& 4. 0001

Question ID :997002148
Chaosen Option : 3

Ans

& 1. Enhanced productivity
W 2. Security

X 3. Entertainment
< 4. Portability

Q58 Which of the following is a disadvantage of mobile computing?

Question ID : 997002137
Chosen Option :1
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Q58 Unixis a operating system.

Ans 1. multiuser and single tasking
X 2. single user and single tasking
X 3. single user and multitasking

" 4 multiuser and multitasking

Question ID :
Chaosen Option :

997002114
4

Q80 Ap [P address prefixed with 1110 is address.

Ans - X' 1. Class C
X 2. Class B
' 3. Multicast
K 4. Class A

Question ID
Chaosen Option

1997002122
4

W oxsRar 0000 w7 % Jgd iR B
ans  of 1. C2C

X2 B2G

X 3. B2B

X 4.B2C

Question ID
Chasen Option

1997002131
4

Q.62 Ms-PowerPoint % Tz = ofF w0 & v frfafes & @ few o918 557 (wom A
T FUOT BT A AT B

Ans X 1. F3
X2 F2
v 3. F5
X4 F12

Question ID
Chosen Option

1997002110
3

Q83 The first octet higher order bits for class D IP addresses is:

Ans - 1. 110
o 2. 1110

X3 1111
< 4.100

Question ID
Chosen Option :

1997002118

2

Q.64 Which of the following Key combinations can be used in the Windows version of the
MS-Word to insert clrrent time?

Ans X1 Alt+ Ctrl+t
X2 Alt+t
K 3. Shift -t
W & Alt+ Shift + t

Question ID
Chosen Option

1997002106
1

Q85 Which of the following is a sequential circuit?
Ans X 1. Binary Adder

X 2. Decoder

o 3. Register

X 4. Multiplexer

Question ID
Chosen Option

997002150
4

Q6 Which of the following is a single-valued attribute?
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Ans 1. BRank account Chosen Option :1 J
& 2. E-mail id
/< 3. Telephone number

o 4. Gender

Q.67 Number of different temary arrays (an amray in which each cell can store either 0. 1. or 2 is called temary

aray) of order 1 x 11 45: Question ID :997002153

Ans 2 Chaosen Option :3

x 7% n’ p

o 2. 3hxn

X3 p3n

x 4, 311
Q88 The acronym of NCP used in ARPANET is: Cuastion D :997002127
Ans o 1. Network Control Protocol Ghosen uon. 1

< 2. National Coalition Program
K 3. Network Coalition Program

/< 4. National Coalition Protocol

Q.69 ¥ e s A e
Microsoft SQL Server is a: Question ID :99700297
Ans (1, Chosen Option :1

Object-oriented database management system
X 2. Network database management system
« 3. Relational database management systeii

X 4. Hierarchical database management system

Q.70 1 =1 ata retrieva Tev 4 . 3 2
Which of the following data retrieval policy isfollowed by Quaue T —
Ans 1. First in. Last out Chosen Option : 3
& 2. Random
+ 3. First in. First out

X 4. Last in. Firstout

Q71 Key constraint states that: Cuesiion | :997002105
Ans (1, Chosen Option : 4

a table can’t have more than one candidate keys

X2

a table can't have both primary key and foreign key

< 3. the value of foreign key can’t be null

of 4

the value of primary key must be unique in all tuples

Q'TZ . ] . " " g q
Which of the following search engines is not multilingual? Question |D : 997002128

Ans ‘f1 BRaidu Chosen Option :1
& 2. Yahoo!
X 3. Bing
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X 4. Google

Q73

Ans

The 2's compliment of the binary number 101110 is:

« 1. 010010
# 2. 010100
< 3. 011100
X 4111101

Question ID : 99700290
Chaosen Option :1

Q74

Ans

According to DeMorgan’s theorem:

X1

aNAND gate is equivalent to negative-AND (inverted AND) gate

X 2

aNOR gate is equivalent to negative-OR (inverted OR) gate
X 3. aNAND gate is equivalent to NOR gate
of o

a NAND gate is equivalent to negative-OR (inverted OR) gate

Question ID : 997002149
Chosen Option : 3

Q75

Ans

Which of the following statements about Array is false?

X1

It requires allocated miemory blocks to be consecutive.

o 2

A single array can store both integer and float (real) values,

X 3.

It can be used to implement Stack and Queue,

X 4.1t is a linear data structure.

Question.ID :997002159
Chosen Option :2

Ans

Q.76 In flowchart. the diamond-shaped symbol (used to represent conditional stataments) have:
_ o 9D Question ID ;99700287
Ans X 1. two incoming lines and two outgoing lines Chasen Option : 1
2. one incoming line and one outgoing line
+' 3. one incoming line and two outgoing lines
X 4. two incoming lines and one outgoing line
Q77 Which of the following is a database management system?

X 1. Hadoop
X 2. MapReduce

< 3. MS-Word
o 4. Ingres

Question ID ;99700296
Chosen Option :4

Q78

Ans

Binary equivalent of the Decimal number 121 is:

« 11111001
& 2. 1000001
K 31111111
XK 41001111

Question ID : 99700285
Chosen Option :1

Q.79
Ans

Which of the following menu itams in MS-PowerPoint contains the *AutoCorrect” option?

< 1. Format

file://iC:/Users/ajay/D ownloads/Qp%20( 1).html
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X 2. Animation

« 3. Tools

X 4 View

Q.80 Which of the following shapes is used in ER diagran to represent weak entity?
Question |D :997002102
Ans X 1. Oval (solid line) Chosen Option :2

< 2. Oval (dashed line)

3 Rectangle (double solid line)

X 4. Rectangle (single solid line)
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